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a b
Qa Qb Qr Qs QE U
1 Xia Xib Xir Xis XiE C1 I1 EX; IM{|] Y1 Py
2 X2a Xab Xor Xas X2E C2 12 EX, IM,| Y2 P,
Ka Kb Kr Ks Ke K* Pk
La Lb Lr Ls Le L* P
1 Ya1 Yhb1 Y1 Py
2 Ya2 Yhb2 Y2 P,
D D
E E Pe
Rwa var I:ews Gw IDw
Rxb er Rxs Gx Px
= E E* Pe
Gaw Gbw Gew Ghw Gw PW
Gax Gbx Gex Ghx Gx PX
Fr Fs F* Pe
Ja Jb Jr Js JE Jh J* P
CO2 CO2, | CO2, | CO2, CO2; CO2e | CO2, CO2* | Pcoz
NOx NOx, | NOx, | NOx, NOX; NOxg | NOx;, NOx* | Pnox
SOx SOx, | SOx, | SOx, SOx, SOxe | SOxp SOx* | Psox
COD COD, | COD, | COD, COD; | CODg | CODy COD* | Pcob
TP TP, TPy TP, TPs TPe TPy TP* Prp
TN TN, TNp TN, TN TNe | TNy TN* Prn
1 2
1 2
F*
Pk
J* P;
CO2 NOx SOx
Pco2 Pnox  Psox
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COD TP TN

Pcoo Pt P

a b

U =u(C,,C,, .Gy Gne» 35, CO2,, SOX,, NOX,,COD,, TN, , TR, ) - Max

hw

Q, = f,(Xps X0, Koy Ly, Gy Gy 35, CO2,, SOX,, NOX,,COD,, TN, TP, ) = g, (Y1, Y., Ry, )
Q, = o (Xup» X5, Ky, Ly, Gos Gy 5, CO2,, SOX,, NOX,,COD,, TN, TR, ) = G, (Yor. Yoo, Roy )
Q = f. (X, %0, K, L, Z,,3,,C02,,50x,,NOx,,COD,,TN,, TR, ) = g, (R, R,,)

Q. = f.(X,., X,.. K., L, Z,,J,,C02,,50x,, NOx_,COD_, TN, TR,) = g, (R,,. R,,)

Qe = fe (Xie, Xoe, Ke, Le, Geys Geyr I, CO2¢, SOX,, NOX.,COD, TN, TR, ) = g, (E)

Ew?

Xa+ Xp+ X, + X+ X +C+ L+ EX = IM; =Y, =Y, +Y,,;
Xog + Xy + X, + X + Xy +C, + L +EX, = IM, =Y, =Y, +Y,,

K, +K,+K +K +K<K"
L +L +L +L +L <L

C,-R+C,-B+1,-R+I,-P+E -P.+J,-P,+G,,-P,+G,, - P,
+C0O2,, - Py, + SOX, - Py, + NOX, - Pyo, + COD, - Py + TN, - By + TP, - P
=K"-P +L-P+E -P.+F -P.+J P,

+CO2"-P.,, +SOX - Py, + NOX - P, +COD"-P.., +TN"-P, +TP"- P,
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Yal' I:)1-’_Ya2 'P2+ Raw'Pw

=X, -B+X,,-BR+K,-B+L,-P +G,,-P,+G, -P,+J,-P,

+C02, - P, +SOX, - Py, + NOX, - Py, + COD, - P.op + TP, - Pp + TN, - Py
Ybl'Pl+Yb2 ’ Pz + be'Pw
=X, P+ X, -B+K -B+L-P+G,-P,+G, P +J,-P

+C0O2, - Py, + SOX, - Py, + NOX, - Pyo, + COD; - Py + TR, - Bp + TN, - By,
RTW. I:)W—i_ RI’)( : PX

=X,-B+X,,-R+K -B+L -P +F-P.+J,-P

+CO2, - Py, + SOX, - Py, + NOX, - B, + COD, - P.op + TP, - B, + TN, - Py,
RSW ' I:)W + RSX : I:)X

=X, P+ X, -B+K-B+L -P +FK-P-+J,-P,

+CO2; - Py, + SOX, - Py, + NOX, - B, +COD, - Py + TP, - Pp + TN, - By,
E-P.

=X P+ X -PB+Ke-B+L.-P +G, P, +Gg, - P +J: - P,

+C0O2; - Py, + SOX; - Py, + NOX: - Py, +COD. - P.op + TP - Pn + TN - Py

F+F<F

J,+d,+d, +3 +J.+J, <7

C02, +C02, +C0O2, +CO2, +C0O2, +CO2, <CO2
SOx, + SOx, + SOX, + SOx, + SOx, + SOx, < SOX~
NOx, + NOx, + NOx, + NOx_ + NOx, + NOx, < NOx
COD, + COD, +COD, +COD, +COD, +COD, <COD
TP, +TR, +TP, + TP, + TP. + TP, < TP’

TN, +TN, +TN, + TN, + TN +TN, <TN”

*

Gaw + be + GEW + th = GW = Raw + Rrw + st
Gax + Gbx + GEx + th = Gx = be + Rrx + Rsx

E,<E+E

D:RrW+Rrx_Fr
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EU European Environment Agency (2005) The European Environment, State and Outlook

2005
Air pollution and ozone depletion
Emissions of acidifying substances
Emissions of ozone precursors
Emissions of primary particulates and secondary particulate precursors
Exceedance of air quality limit values in urban areas
Exposure of ecosystems to acidification, eutrophication and ozone
Consumption of ozone-depleting substances
Biodiversity

7 Threatened and protected species

8 Designated areas

9 Species diversity
Climate change
10 Greenhouse gas emissions and removals
11 Projections of greenhouse gas emissions and removals and policies and measures
12 Global and European temperature
13 Atmospheric greenhouse gas concentrations
Terrestrial
14 Land take
15 Progress in management of contaminated sites
Waste
16 Municipal waste generation
17 Generation and recycling of packaging waste
Water
18 Use of freshwater resources
19 Oxygen-consuming substances in rivers
20 Nutrients in freshwater
21 Nutrients in transitional, coastal and marine waters
22 Bathing water quality
23 Chlorophyll in transitional, coastal and marine waters
24 Urban wastewater treatment
Agriculture
25 Gross nutrient balance
26 Area under organic farming
Energy
27 Final energy consumption
28 Total energy intensity
29 Total energy consumption
30 Renewable energy consumption
31 Renewable electricity
Fisheries
32 Status of marine fish stocks
33 Aquaculture production
34 Fishing fleet capacity
Transport
35 Passenger transport demand
36 Freight transport demand
37 Use of cleaner and alternative fuels

OO WNERE

14



37 DPSIR TypeA TypeD

(D). M R — i
Ec:i:;cﬁfggggq Risk assessment

ek costs and benefits of
Emission factors action/in-action

e
<

(P -
. 7
Doseres pénr‘rs_e indicators

Pathways and
dispersiofl models = and redaionships

‘What is happening to the environment and to humans?’ (Type A or Descriptive Indicators)
‘Does it matter?” (Type B or Performance indicators)

‘Are we improving?’ (Type C or Efficiency indicators)

‘Are we on the whole better off?” (Type D or Total Welfare indicators)
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